AP Calculus BC — Unit 2 Solutions

Worksheet 7
1) a=-1 2) Show using IVT 3) Answers vary
4) a)l9 1 In4
) b))1 e 6) a)nT
5) a) —£
2 In103—-In100 1. 103
3 b) —————=—-In—
b) e —e 3 3 100
2
7) a) 2 8) 6 9 3 10)§
Vd 3
b) 0
11) -60 gal/min 12) -0.1968 pounds/day 13) a) 11.025m
b) 22.05 m/sec
¢) 19.649;19.6049; 19.600049
Worksheet 8
1 2) 2 3) 1 4) 2
) —=
4
5) 1 6) 2 7)  f(x) is not differentiable at x=0
4
8) a) f(x) is differentiable at x=0. 9) (—00,0)U(0,) 10) (—o0,1)U(1,)
b) g(x) is not contat x=5 > g(x)is not diff at
x=5.
) (~.5)U(5.)
Worksheet 9
2 2
1) gv(t)=10t3 2) B'(x):(x_l)(16x_6)—(§x —6X+11)
(x-1)
3) f'(s)=—1—8s—20s3 v +1)(3v7 )= (v =1)(3V
N e A R I
(v +1)
4 1 7 L 2
5) f'(x)=6x+§x3 (3t—5)[3t3j—t3(3)
6 '(2)=
) &) (3t-5)
7) p'(x)=-x?-2x" -3x"* 8) k'(x)=(2x" —4x+1)(6)+(6x—5)(4x—4)
2 1 ' _7_ -2 -3
9 h'(x)=x3(6x—2)+§x_3(3x2—2x+5) 10) M(x)—Z e —Ox




— —_ ' _ -2
1) f'(x)=(3x+2)(4) (4f 5)(3) 12) f(x)——(1+x+x2+x3) (1+2x+3x2)
(3x+2)
13) See Worked-Out Solutions 14) True
15)C 16) k=-2
Worksheet 10
1 =-2,1 . b0 =—
) x 2 x:_lig 3) T: y—20=-24(x+2)

N: y—20=%(x+2)

4 T y—2=i(x—4)

N: y-2=—4(x-4)

5) y—8=3(x—4)

6) N: y—3=—$(x—2)

7 y+3=-1(x-1) 8) (-127); (2,-24) 9 fM(x)=2x"
2 —
0 Lo Lo 1 + 12) -2
dx 4 2
13) -3 14) -1 15) 2
Worksheet 11

1) f'(x)=-sinx

(1 +x° )(sec2 x) —tanx(2x)
(1 +x° )2

D fi(x)=

3) g'(w)z

(1—secw)(secwtan w)—(1+secw)(—secwtan w)

(1—-sec w)2

4) k'(v)=csc’v

5) k'(x)=cosx+6x" +4sec’ x

(1- sinx)(—sin2 x) —cosx(—cosx)

(1 —sinx)2

6) F'(x)=

7 r'(a)=-3a csc(a3 )cot(a3)

8) H'(s)= —(2s —%Jcscz (s —4s)

9) f'(x)=-5sinxsec’(cosx)

10) f'(x)=—sinx+6x

11) p'(w)= ! sec’ w

2w

12) P'(v)=0

13) N'(x)=cosx+5sinx

14) h'(x)=—x"cscxcotx+3x” cscx




15) L'(x) =secxtan’ x +sec’ x

16) T: y-3=-1(x—7)
N: y—3=1(x—7r)

17) N: y+1=1(x—71')

18) x=—, —
) 2

w 3x
2

Worksheet 12

1

L. f'(x)=—8(7x+&)'9(7+%xz]

2. f(x)=5x"(2x-5)" - 2+3x*(2x-5)

3. g'(w)=4csc3(w5 —w3)(—csc(w5 —w3)cot(w5 —ws))(Sw4 —3w2)

4. k'(v)=2sin(57v—4)cos(57v—4)-57

5. k'(x)= —3sin™* xcosx —3cos? x(—sinx)

6. F'(x)z%(—3—9x)_;(—9)

7. r'(a) = %(4a3 + 5)% (12a2)

8. H'(s)= %(12s2 + 8)% (24s)

9. y'=—4(4x+3)7(4)

o f,(x):6(x_3j5{(x—8)_(x_3)J

x-38 (x—8)2

11. p'(w)=—1(cscw+cotw)” (—csc weot w—csc” w)

12 Pi(v)= 2( —cosv j[(1+smv)(—sinv)_(_cosv)(cosv)J

1+sinv (1+sinv)2




Worksheet 13

1) f(x) isnotdiffat x=1

2) y'=4x3(4\/}-3%/§)+x4[i

%)

(x—2)(2x+3)—(x2 —3x)

4) y"=6(x* —2x+1)(2x-2)+3(x* ~2x+1) (2)

3 "(x)=
) =
5 T: y-4=7(x+2) 6) (l gj 7 T y—«/_zi(x—3)
1 274 V3
N: y—4=——(x+2) B
7 N: y—’\/_Z—T(X_:;)
8 3 9) -7 10) 15 I 4 12) Undefined
9 25

13) y'=x* (—4sinx—3sec2 x)+4x3 (4cosx—3tanx)

(1+ tanx)(—sinx) —cosx(sec2 x)

14) f'(x)=

(1+tan x)2

15-19) see worked-out solutions




